3, o
A I Hllciep]

C___ N = C
S RIEECAR RN EJ EAEARINE
TAYE, ITAIR

f 20193 el w9, J9re

# ;,7
m%

@
"fwﬁf;}, fafroz 103103

BNt SH TARE TR TS Q9T T G |

ot Trquf IUFHRATA AAEET |

T AHT TRAEET A AT 069 15 F T qfie TREGHT BRFH Feqid
YETRET AR ATAN AAR T TS AN 3R Jusd TEEAgT A1 G G
US|

((

Sk IGIE
4. qraTiiE! e THE | R | SRS F i
EliED)
q Leg Press Sets 1
2 Arm and Shoulder Wheel Sets 1
3 Standing And Seating Twister Trainer Sets 1
¥ Air Swing Sets 1
Yy Cycle Sets 1
. g Cross Trainer/Elliptical Exercise Sets 1
- © Bridge Ladder Sets 1
z Sit Up Station Double Sets 1
? Treadmil Sets 1
q0 Push and Pull Up Chair Sets 1 //”\'
/OKK )
LEREUIEICIE]
T YA AAEd
{f?f f&f{m 3m




i

Leg Press

Arm and Shoulder
Wheel

Specification

Material: Pre Galvanized Mild Steel

Main Central pipe: 100mm NB (114.3 mm
OD) Pipe 150 mm NB (168.3 mm OD) Pipe
Swinging paddle pipe: 40 80mm (OD),
Handle Pipes: 30-60 MM (OD) Thickness
of pipes: Not Less Than 3 mm.

Seat: Galvanized MS deep draw quantity of
2mm thickness with no joints with uniform
outer edge radius of 2mm or Plastic
Alloy/HDPE seat with more than Smm
thickness with effectively connected on MS
frame

Footrest: 30-50 mm MS pipe or Plastic
Alloy/Nylon footrest with more than Smm
thickness. Reinforced foot pedals for
extended 7 life.

Bearings: 62012 RS1 and 62052RS1,
Permanent lubricated sealed bearing of
reputed brand for maintenance free usage,
High Tensile SS with galvanized nut and
bolts,circlips, pins(25mm in dia solid bar)
for assembly All open ends of pipe either
sealed in or closed by MS/ Injection
moulded Plastic LLDPE/HDPE cap for user
safety,

Paint: Smooth finished surface with primer
coating of not less than 40 micron followed
by epoxy based all weather protection
double layer powder coated paint of 60-70
micron.

Base plate for fixing: 330 mm Dia and not
less than 10 mm in thickness

Material: Pre Galvanized Mild Steel

Main Central pipe: 100 mm NB (114.3 mm
OD) Pipe-150 mm NB (168.3mm OD) Pipe
Both side arm support: 30-40mm (OD)/25
mm NB pipe Rotating wheels: 365-430 mm
dia, Thickness of pipes: Not Less Than 3
mm.

Bearings: 62012 RS1 and 62052RS1,
Permanent lubricated sealed bearing of
reputed brand for maintenance free usage,
High Tensile SS with galvanized nut and
bolts, circlips for assembly All open ends of

940}’ i O*L

Dimension

7110 MM (Length)
710 MM (Width)
1670 MM (Height)

700 MM (Length)
1000 MM (Width)
1280 MM (Height)




4 7 AR 15
TR, T &
Y gy, AT

Row?

BN YL, AU

pipe either sealed in or closed by MS
/Injection moulded Plastic LLDPE/HDPE
cap for user safety,

Paint: Smooth finished surface with primer
coating of not less than 40 micron followed
by epoxy based all weather protection
double layer powder coated paint of 60-70
micron.

Base plate for fixing: 330 mm Dia and not
less than 10 mm in thickness

Standing and
Seating Twister
Trainer

Material: Pre Galvanized Mild Steel

Main Central pipe: 100 mm NB (114.3 mm
OD) Pipe 150 mm NB (168.3mm

OD) Pipe

Chair Pipe: 60-80 mm (OD) and base plate
of 250 mm diameter and 10 mm thickness
Standing Platform Pipe: 60-80 mm (OD)
and base plate of 250 mm diameter and 10
mm thickness

Handle Frame of Seated and Standing
Twister: 30- 60 mm (OD)

Thickness of pipes: Not Less Than 3 mm.
Twister Plate for seat: Fitted above the
supporting frame, 300-400 mm Dia and 10
mm thick MS Round Plate Twister Plate for
standing platform: Fitted above the
supporting frame, 250-320 mm Dia and 10
mm thick MS Round Plate

Bearings: 62012 RS1 and 62052RS1,
Permanent lubricated sealed bearing of
reputed brand for maintenance free usage,
High Tensile SS with galvanized nut and
bolts, circlips for assemblyAll open ends of
pipe either sealed in or closed by MS/
Injection moulded Plastic LLDPE/HDPE
cap for user safety, Paint: Smooth finished
surface with primer coating of not less than
40 micron followed by epoxy based all
weather protection double layer powder
coated paint of 60-70 micron.

Base plate for fixing: 330 mm Dia and not
less than 10 mm in thickness

Air Swing

Material: Pre Galvanized Mild Steel

Main Central pipe: 100 mm NB (114.3 mm
OD) Pipe-150 mm NB (168.3 mm OD) Pipe
Swinging Paddle Pipe: 60- 80 mm (OD)

Mﬁe&ejrc




Ro\wd

BN YeuT, AUl

Swinging Support Platform: 100-150mm
(OD) and 10 mm thick MS

Thickness of pipes: Not Less Than 3 mm.
Footrest: Top Quality LLDPE/ HDPE for
footrest 3-5mm thickness, Reinforced foot
pedals for extended life

Handle Frame of Swinging Platform: 30-
60 mm (OD) Bearings: 62012 RSI and
62052RS1, Permanent lubricated sealed
bearing of reputed brand for maintenance
free usage, High Tensile SS with galvanized
nut and bolts, circlips for assembly All open
ends of pipe either sealed in or closed by
MS/Injection moulded Plastic LLDPE
/HDPE cap for user safety,

Paint: Smooth finished surface with primer
coating of not less than 40 micron followed
by epoxy based all weather protection
double layer powder coated paint of 60-70
micron. Base plate for fixing: 330 mm Dia
and not less than 10 mm in thickness

5 Cycle

Material: Pre Galvanized Mild Steel

Main Central pipe: 80 mm NB (88.9 mm
OD) Pipe-100 mm NB (114.3 mm OD) Pipe
Handle frame: 30-60mm

Thickness of pipes: Not Less Than 3 mm.
Revolving paddles & Wheels: heavy duty
M.S. plate PVC cover Handle with dia 30-60
mm (OD)

Seat: 130 mm long x 300 mm wide x 3mm
thick and deep drawn and pressed in tools
uniform curve edge of 20mm radius with no
sharp edge or HDPE seat with 3-5 mm
thickness effecitevely connected on frame.
Bearings: 62012 RS1 and 62052RS1,
Permanent lubricated sealed bearing of
reputed brand for maintenance free usage,
High Tensile SS with galvanized nut and
bolts, circlips for assembly All open ends of
pipe either sealed in or closed by MS
/Injection moulded Plastic LLDPE/HDPE
cap for user safety, Paint: Smooth finished
surface with primer coating of not less than
40 micron followed by epoxy based all
weather protection double layer powder
coated paint of 60-70 micron. Base plate for
fixing: 330 mm Dia and not less than 10 mm
in thickness

1050 MM (Length)
560 MM (Width)
1470 MM (Height)

Page 3 o ¢




ENIEL T{

Row?

el you, AT

6 Cross
Trainer/Elliptical
Exercise

Material: Pre Galvanized Mild Steel

Main Central pipe: 100 mm NB (114.3 mm
OD) Pipe-150 mm NB (168.3 mm OD) Pipe
Supporting Frame: 60-80 mm (OD) and
base plate of 250 mm diameter and 10 mm
thickness

Footrest Supporting Frame: 70-100 mm
Swing Arm Pipe: 30-60 mm (OD) Dia,
PVC Cover Handle with dia 30-60mm,
Thickness of pipes: Not Less Than 3 mm.
Footrest: Top Quality LLDPE/ HDPE for
footrest 3-5mm thickness. Reinforced foot
pedals for extended life

Bearings: 62012 RSI and 62052RS1,
Permanent lubricated sealed bearing of
reputed brand for maintenance free usage,
High Tensile SS with galvanized nut and
bolts, circlips for assembly All open ends of
pipe either sealed in or closed by MS
Injection moulded Plastic LLDPE/HDPE
cap foruser safety, Paint: Smooth finished
surface with primer coating of not less than
40 micron followed by epoxy based all
weather protection double layer powder
coated paint of 60-70 micron.

Base plate for fixing: 330 mm Dia and not
less than 10 mm in thickness

1265 MM (Length)
550 MM (Width)
1780 MM (Height)

7 Bridge Ladder

Material: Pre Galvanized Mild Steel

Main Central pipe: 100 mm NB (114.3 mm
0OD)

Pipe-150 mm NB (168.3 mm OD) Pipe
Sideways Parallel Support Pipe: 60-80
mm (OD)

Thickness of pipes: Not Less Than 3 min.
Parallel Handle Pipes: 30- 60 mm (OD)
High Tensile SS with galvanized nut and
bolts circlips for assemblyAll open ends of
pipe either sealed in or closed by MS/
Injection moulded Plastic LLDPE/HDPE
cap for user safety,

Paint: Smooth finished surface with primer
coating of not less than 40 micron followed
by epoxy based all weather protection
double layer powder coated paint of 60-70
micron.

Base plate for fixing: 250 mm Square Base

foge & &f 6




b ¥ o
EEEIEGUESIINED

el Yoy,  Surer

and not less than 10 mm in thickness

8

. Sit UP Station
' Double

Material: Pre Galvanized Mild Steel

Main Central pipe: 100 mm NB (114.3 mm
OD) Pipe-150 mm NB (168.3 mm OD) Pipe
Main Frame Pipe: 60-80 mm (OD)
Support Frame Pipe: 40- 60 mm (OD)
Sit-up Board Frame Pipe: 30-40 mm (OD)
Thickness of pipes: Not Less Than 3 mm.
High Tensile SS with galvanized nut and
bolts, circlips for assembly

Paint: Smooth finished surface with primer
coating of not less than 40 micron followed
by epoxy based all weather protection
double layer powder coated paintof 60-70
micron. Base plate for fixing: 330 mm Dia
and not less than 10 mm in thickness

1595 MM (Length)
640 MM (Width)
1450 MM (Height)

Treadmil

Material: Pre Galvanized Mild Steel

Main Central pipe: 100 mm NB (114.3 mm
OD) Pipe-150 mm NB (168.3 mm OD) Pipe
Support Frame Pipe: 70 -100 mm (OD)
Handle Arm Pipe: 30-60 mm (OD)

Base Platform: 70-100 mm Square Pipe or
Plate Thickness of pipes: Not Less Than 3
mm.

Bearings: 62012 RS1 and 62052RSl,
Permanent lubricated sealed bearing of
reputed brand for maintenance free usage,
High Tensile SS with galvanized nut and
bolts, circlips for assembly All open ends of
pipe either sealed in or closed by MS /
Injection moulded Plastic LLDPE/HDPE
cap for user safety,

Paint: Smooth finished surface with primer
coating of not less than 40 micron followed
by epoxy based all weather protection
double layer powder coated paint of 60-70
micron.

Base plate for fixing: 330 mm Dia and not
less than 10 mm in thickness

1210 MM (Length)
750 MM (Width)
1400 MM (Height)

10

Push and Pull Up
Chair

Material: Pre Galvanized Mild Steel

Main Central pipe: 100 mm NB (114.3 mm
OD) Pipe-150 mm NB (168.3 mm OD) Pipe
Support Frame Pipe: 70-100 mm (OD)
Swing Arm Pipe: 30-60 mm (OD)
Thickness of pipes: Not Less Than 3 mm.

2100 MM (Length)
710 MM (Width)
1870 MM (Height)

Vage € ot



£ - T s
. P
- v & -z E
AYTL
. ’ ER
Trvfy i :{fﬁ-‘

Ro\ad

el yeur,  Aurer

Seats and Back Rest: 330mm x 300 mm x
3mm thick, Made of MS

Bearings: 62012 RS1 and 62052RS1,
Permanent lubricated sealed bearing of
reputed brand for maintenance free usage,
High Tensile SS with galvanized nut and
bolts, circlips for assembly All open ends of
pipe either sealed in or closed by MS /
Injection moulded Plastic LLDPE / HDPE
cap for user safety, Rear Deltoids in the
pulling motion.
Paint: Smooth finished surface with primer
coating of not less than 40 micron followed
by epoxy based all weather protection
double layer powder coated paint of 60-70
micron.
Base plate for fixing: 330 mm Dia and not
less than 10 mm in thickness

Vaicae ¢ of 7




